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Object Oriented Programming
(with Java)
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1408 =3 gad lay class ) o
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AccessModifier class ClassName

[fields declaration] | pailadll
[methods declaration] \\  <bleall
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Attributes uailaill

.class3) (» instance ¢S Al 2aad class bl jalic o

A48 b g classl B as g (5SS Ol e (attributes) p=ibasll o
1Bk e Jilaiuall iy 20 ol 1Dl

Jength Jshall e

width (= sl e

sl Gk e (attributes) paibaddl ) J gea ol o3

.class3) Ja1a methods

o J

Methods J)sll
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.public

(Method header) 41l il e
AccessModifier ReturnType MethodName(Parameters)

{
//Method body.
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Circle class J-a

public class Circle {
Il 5 ity
public double X, y; // 3393 S
public doubler;
I 39 dabua g lsa gla ¥ (Methods) Jise
public double circumference() {
return 2*3.14*r;

} Method Body
public double area() {

return 3.14 *r *r;
}

}

o

/[ S radius hd Caas fields declaration

methods declaration
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Al el W3y x)y,z Ol yiia e (OleY) &3 class Al 1aa b
X,Y,Z & el el &5 Leid 5 Printxyz asYb

public class classl {
int x,y,z; . .
} fields declaration

void Printxyz()
{ -
System .out . printIn(“x=* + x);

SyStem .out. println(“yz “+ y)’ — methods declaration
System .out . printIn(“z=“ + z);

}

)
o J

s ~
Classes and Instances

. objectd ) sie (5 52y reference variable - Of Liala ()] 5 (3as LS

String cityName = “Tripoli"
@58 3 object I
“Tripoli” Al e

cityName | Address of the object =———> Tripoli

s Aapaa dadl aa S String class A length () Al
iad Auludl Jsh

int stringLength = cityName.length();
Al of s 7 el Jesgs stringLength s
. LAS . i T H H1

17 = o ] Jle o ]o | A_‘,J;' al 7 5523 "Tripoli

@ 1 2 3 4 5 6 7

N /
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JEie object S 5 .class (re il S objects 3¢ 13) @
(B Jass e .(independent) »_»& (e
String person = "Jenny";
String pet = "Fido";
String favoriteColor = "Blue";
person Address “Jenny”
pet Address “Fido”
favoriteColor| Address Blue”

o J

s
class <! (= objects sl
.(Objects) <lilS 4t (38 () 23Y Class LS aladinl (pe Sas SI1Y o
5SIA & lSa Sand Al new b)) saaall A aladil Ll i) o
(SIS DSl g 53 (e RS

Sia Circle SN (o S 4 oK LKLl 9 day il JUall 32 52lly o

e Circle aCircle = new Circle() ;

e Circle bCircle = new Circle() ;
.Circle @i\ ) 4l bCircle s aCircle ®

° ?‘ )
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Adliae clily e (s iy class (< instance JS @
.(design) ppanaill (il 84S jiha WS instances -l e
(methods) J) s 5 (attributes) <all S instance IS @

a5 (concept)e sede Jiail Classes =i oy @

~

class ) (s Lgiy y=3 a3 4;-“\

/

package oopl;

class1 —I Jleain) 488

\

public class Oop1 {

public static void main(String[] args) {

| classl x =new class1(); |

x.a=20;

x.b=40;

x.c=30;

x.printabc();
}

}

Jdl 138 ;

45 yaie aaaty classl S gL an-
Al
Aot H Al Jab class]dl Jlexin al-

g5 0o X aub e e MY A

class class1{
int a,b,c;
void printabc() {

System.out.printin("b=
System.out.printin("c=

}

System.out.printin("a="

+a);
"+b);
"+e);

dr aria awn Y AW o2 ‘;J classl
new 4lS Jleaivl as object cAS o

| Xl ;uuy

©
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T Class -l g Apbead) clled) el oS gl |

class mathoperation {
double result;

double sum( double v1,double v2) {
result =v1+v2;
return result;

}

double subtract ( double v1,double v2) {
result =v1-v2;
return result;

}

double multiple( double v1,double v2) {
result =v1*v2;
return result;

}
double divisor ( double v1,double v2) {

result =v1/v2;
}
0,

return result ;

— <% class =) sL&d) (1

\

class mathoperation-! (» mathobject (S iy plg ol malil) (2

package oop2
import java.util. Scanner;
public class oop2 {

public static void main(String[] args) {

l mathoperation mathobject =new mathoperation ();

Scanner input=new Scanner(System.in);

double N1=input.nextDouble();
double N2=input.nextDouble();

System.out.printin("\n Sum is :"+ mathobject.sum(N1,N2));
System.out.printin("\n subtract is :"+ mathobject.subtract(N1,N2));

System.out.printin("\n multiple is :"+ mathobject.multiple(N1,N2));
System.out.printin(*\n divisor is :"+ mathobject.divisor(N1,N2));

)
O
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import java.util.Scanner;
public class oop3 {
public static void main(String[] args) {
| Fact fact =new Fact (); |
Scanner input=new Scanner(System.in);
int N1=input.nextint();
System.out.printin("Fact is :"+ fact.f2(N1));

}
}
ﬁass Fact {
static int f2(int x) { | zun:
int f=1,i; )
—fkr -t
retlj;r]: ]: BUILD SUCCESSFUL
}

L B / )

/

/ﬁ 5 package myfirstclass;
O\J é.}.m :4&}» 9
< ' at dsui Laas) 7 public class MyFirstclass {
| Al i i public static void main(String[] args) {
UA)'\S FE U 9 classl x =new classl();
.Class 10 ¥.a=20;
-‘A‘J ClaSS 'S!J 11 x.b=40;
I 12 x.c=30;
OJS..'I pEYY) -\A‘jj 13 x.printabc();
o 14 }
.public pl&
! 1] 15 }
0355‘ ‘g_ﬁ‘ 3&3 & public class classl{
A\.ﬁAL) al :“ e“‘ tg & Rename file to class1java
VoI pPIInicauootT 1
(.java) System.out.println("a="+a);
N L ) 20 System. out.println ("b="4b) ;
Fidsian U‘ ‘—%}l’; U;\j 21 System.out.println("c="+c);
Public Al Class 22 }
Ay peay o) 23t )
| ’.dﬁ d&' 24
T Ca (5 myfirstclass.class

98 alall ansl i 8
\‘ ki 65/ Motifications  Qutput - MyFirstclass (run) X

Aol 5 pmlaall Al Gl
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Construction sl 4dla

dad aa Y classdl and i Jesd cclassdl 8 Al
sl e edid gl cclassd) Jleaiul aie Lol
Al a8 ol Jaaas Wgids s new 4alS axy Wasdy objects !
Al Ja gy g) 5l l e gl iy e
el Ally eledinl whd classdl Gaa LSy gauall oy o 13)
4wzl 8l Constructor
ihaul s classl o Student oS elidly agii laxie Sl
Bl Lgile diul 5 constructord) el ddla lé pew 4alsl)

classl student =new classl();

\

N
(> Grid )

4 (Ahmed and Khalid) ¢S oo o3e3U class Studentd) Jasiul :d\fu\
Jahy Jaxally llall &) delds &5 giale 3 IS JSD sl Ja i laaal

class student { 7 ?GAUJA !
int id, oop, math;
int average() { 0555 9 student <SS sL&) (1
int x=(oop+ math)/ 2; - Q08 o e ENG <
return x; (T e T e
}
} J

package oopl;
public class Oop1 {
public static void main(String[] args) {

___~Student ahmed =new Student(); object stadl (2
(" class ) >Student khalid =new Student(& } Slads/d| s

g \
‘student aaall class ) #L&) & student() sLd) dJa <3 axe BaY
JKkhalid &S Q19 ahmed CAl sl tis Ua Lgsle siad a3 lld aag

o )/
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g'ahmed id =0234567. }

1
i ahmed .oop =80; i
1 1
1 1
1 1

ahmed .math =60;

N ’

System .out.printin(“ahmed id =*“ + ahmed.id +” average—“ﬂ ahmed. average()),;

‘khalld .id =4536871,

I
.khalid .00p =70; i
'khalld .math =80;  }

o J

package oop_example;
public class OOP Example {
public static void main(5tring[] args) {
Student ahmed =new Student():
Student khalid =new Student();
ahmed .id =0234567;
ahmed .cop =80;
ahmed .math =60;
System.out.println{"ahmed id =" + ahmed.id +" ,average="+ ahmed.average()):
khalid.id =4536871;
khalid.oop =70;
khalid.math =80;
System.

Gl Jliall JalS el

i =" 4 khalid.id +" , average="+ khalid.average()):

class Student {
int id,ocop,math;

int average(){ : Qutput - OOP_Example (run)
int x=({oop+ math)/ 2 u>
rumn:
return x; u> zghmed id =B0Z47 ,average=T0
¥ khzlid id =453€871 , awerage=75
¥ = BUILD SUCCESSFUL (total time: 0 seconds)
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Jala Al dsa ) leae 35 Al Gailiadll e o sl 212 13)
3 ey sl eledil (9 Lilali 26 &89 Al IS Iy a5 class
.class ! (e object (RS iy y=23
28 2002 gl Lay g ciana e85 (s class ) ol (adi Ll () 55 Oy e
058 Y sl parameters cSdaa Ll ¢ s

Class Myconstructor

{

Myconstructor() {
System.out.println(* Ll Al alasiuly Aleal) 028 2815 o3 231

}

o g

4 . N
f«l.'s,d\ 414 e\é&ﬁu\

public class Constructor {

public static void main (String [ ] args)

{

[Myconstructor myconstructor = new Myconstructor(); ]

}

}

class Myconstructor

{

Myconstructor()

{

System.out.println (¢ sLall A3 aladinly dalead) o8 245 o5 23P)
b

@ p,

b
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Start Page & @ Constructor. java $|
Source | Hisory B -H-CQ R HFBNR|F LR o D& =
1 public class Constructor {
2 public static void maim (String [ ] args)
3 {
4 T Myconstructor myconstructor = new Myconstructor();
5 4
& H
T class Myconstructor
8 {
] Myconstructor ()
10 {
11 T System. out.println (" sLlia 0l 01> plasiels dsdasldl sda dadis pi a@l");
1z }
13 }
14
>
[Output - J. A 22 (run) =
>1> run:
Pl Tl Ldla pluafiloly Lalexdl ede ladi3 pi o351
“ BUILD SUCCESSFUL (total time: 0 seconds)

v

public class testclasas {

public testclaszs() {

System.out.println("I'm constructor!");

public class testoop {

public static void main(S5tring[] args) {
S/ TODO, add vour application code
System.out.println("Hello World!"™):
testclass objl = new testclass();

General Output

____________________ Configuration: testoop
Hello World!
I'n constructor!

Process conpleted.

_‘,-/ testclass 9

ﬁ

=

v g 3':”7‘5 Ay APy ¥

Fas 52 Class 9y
3£, testclassy o
o B 5 o\ (‘:p”
testclass

ag B 5\55‘
3.‘}& )
testclass(}/
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public class Constructorl { dlags i Liha object L)
public static void main (String [ | args) { clll Alla eledin) 4 4

[ Myrectangle rect = new Myrectangle(); ]4/
System.out.println (“width="+ rect.width+"\t height="+ rect.height);

}

}

class Myrectangle {

double width,height;
Myrectangle() {
width=10: class < Jala glid) a1 s L)
height=2 ; (DA Ll Gl g Al ki g

}

@ Y,

g CdALa Ll slid) A3 )2k N

public class Constructorl {

public static void main (String [ ] args) ady class ) o object s

{ Cdda Lgdg sl A ple din)
[ Myrectangle rect = new Myrectangle(20,4);

System.out.println (“width="+ recy/width+”\t height="+ rect.height);

h

class Myrectangle
{ double width,height;
Myrectangle(double w , double h )

{ class < Jala slid) Ay gL
width=w; .‘;,%_g‘ LG"‘J Alaa U'“ﬁ LG"‘J
height=h ;

i Output:
@} width=200  height=4.0 )

15 Laglall 3 bl 4yl Al
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public class Constructorl {
public static void main (String [ ] args)
{

[ Myrectangle rect = new Myrectangle(20,4); ]

Mpyrectangle rect2 = new Myrectangle(46,8);

H

class Myrectangle

{ double width,height; ./
/

Myrectangle(double w/, double h )‘

{ Output:
width=w; width=20.0 height =4.0
height=h ; width2=40.0 height2 =8.0

}
@ ) J

s . . D
Classes - aladiu) g ¢l

5yb’9yvﬁﬁ@;)ﬁig&¢ywwé3défy&wdffStudent(‘\{/«,z 5);@“3

W
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Print_info
Input: -

Wurn: void_r_ L

Update_info
Input: name or
ID

Fname | string
string \ T

Jayadlil)

g

Lname

Student_ID

/ string

| ‘i 3 Level

int

Program

string
\( \ Tel

string

Gender
string
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Jalail) Jaydads
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Main Class

< P AP P

Student
Class
o A Class 9yp
MW\,)’; o
s/w;wuu»j/ ¢sf P

i

—

£5Class) iy vas £ & (Objects) Cwd o
VA 5 0 o P O 57 w87 Cé
B F s 5 i Class g

/

//’

public class student {
private 5String fname;
private String lname;
private String tel;
private String atu id;
private 5tring Program;
private String Gender;
private int lewel:

public student () <{

lname = "Last Name"
tel = "000000CO"

Program = "Deploma"™
Gender = "male"
level = 1;

H
fname =
1name = ln
tel = tele;

stu_id = id;
Program = prog;
Gender = gen:

fname = "First_Name':

stu id = "1200800007; ’ Constructo

public student(Striﬂg fn, 5tring 1n,String tele, String id, String prog, String gen, int lev) {

) ~

Iz

Student Class

:|> Instance variable

Class b Aalil) Adaal) ) pisiall o3a

W 058 5 Classd) 13 cliua Jiad A g
Access alddia) A (e saaldall 3gaa
Modifiers

Slly sl Ay gi Classd s Al ol )
sl Ay ol plhae) oy DA (ha
IR e Weldd ol Al (Objects)
O oSa JIgal AS Jia Lglia 5 <Class)
,.\AL&ELASL@.E.AS.\&.&MGE\J)&/

:|> Constructor

@ level = lev:
\_4

L) 5 poalaall

e sheall A 2K
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Ll

public void print ()
r3

{

System .out.println (“The information is \n” + \I
"Name: "+fname:" "+lname:"\n": .
"ID: "~sv.u_id-'\n"-
wprogram: "+Program:"\a":
nLevel: n.level-"\n"+
nGender: w.Gender-"\n"*
nTel.: n.gel);

Method

( string firsc_names string Last_naze )

}
public void updaté
_ girsc nemed
¢_name’

“The name

fname

at Pf““‘“ ¢ is update ™)

Glily At o |3
et i ol st
Class ) 13 e

verloaded sl au! Joaeil s 028
EEEEC S
128 e Lagliy) Futy

b We Class J

ffa"_\n = \‘GJ
4,k ey
Jaaatl

public class 38U

L)

udentProj {

public static void main(SE ] 7gs) |

new student ()

student stl =
ud“,“Alfarra '

stl.print():
grudent at2 ~ new scudenc("nahmo
scz.pnm:( T—
te("l\ll ' . ‘
at1.upd? &1 s SIS L g Aeal olgs
o pd osllae) aa st Aand Studth'
Overloaded  J1  alasiul &
constructor

. '0599000000',"1‘1000

QS g2 & Sl I i)

waa S s a Aleal b3

LI L st1 4aws Student uA

Ll @Yl Al e e
Student J313 53 g sall

200','!35:&:', nyale” 2)

Leielida 5 il

/
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Encapsulation wa.dsil

Alaal 4aling Lo JS e (5 53 o ong class IS o

class Jal Auliall (methods) J) sl (attributes) gaibadll s o

.(encapsulation) el e 2l

XX @ <

80 [ o \
,d}f‘.‘ /\ Variables )
o b )
et \ y

Sge”

Class

.(self-contained) Ll 88 class) 58 Of Cranay Caladll o

o J

4 . N
Encapsulation wadsidl

(Data Hiding) <Ulsd) ¢l8d)
self-) L 88 classd oS Y Ol ag agd - Calatl) e JAT Cila g8

(self-governing) 1 a8y alaie ()5S ol s 08y L (contained

e S
b oe leaadl Jgial) e private access p33iui Classes
.Classes)

.(methods) JIsal) () zlag Lehaed 5 Class) Sl J sea 5lb # Lol @

o J
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Stale Data 4aadl) cililul)

¢Adliag Jalge Je (5 clblua e da3l o o8 UL iany @
25 ) o Lo dilitead) (area ) Aalioe i
(width)u=,al x(length )d skl
¢ Aabial) dad i yani LegalS ) ia yall sl J shall A <y LS
ot 8 dpald (o] AN g e Yy dad area dad Cnual
L) Cuadl clags) (A Al Al Ll an g Al dalge iy

HLagadl)
public double getArea ()
{
return length * width;
}

public class student{
public static void main (String] ] args) {
car ol=new car ();
ol.getdata();
ol.setdata(40);
System.out.pyintln(o1.getdata());

H
}
class car {
private int width=2
public int getdata( )\{
return width;

}

public void setdata (int w) {

width=w;
@ }
}

Encapsulation —isdsil)

Encapsulation asgda
Gl e ) Jpua sl (0 LiSay
43k private  £i (e

A e llig B pile

.Cclass =) Jala & Jiga

A
40

Aol 5 pmlaall Al Gl
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4 Encapsulation il )
I FINdI_V_M_Uld s - . (private wald Gl L) ) J pea sl 7 gania s Laas
E}& Get&Set_lava ‘ 5 .private cald e Y jebhy o) width _paialld

E [ Source Packages | & ‘
| B get.set_java 7
- [E GetSet_Java.java o 1 |
A T.ESt Eackages E 8 doors int | ENH
& Libraries O = L= (0be ool
- B Test Libraries 0 equals(Cbject o) boolean
& Javaapplication10 11 } O gettlass{() Class<?>
& Javaapplication13 =l =2 } O getdata () int
- - 13 class cf] () hashCode () int
.mam-Na\ugator $| . [=1 14 4 © notify() void
| Members v|[<empty>  ~|[@ || 15 ¥ @ notifynll() void
B&) GetSet._Java. 18 H| O setdata(int w) void
L (et ng[] args) 17 T { || © tostring() String
18 O wait() void
O setdata(intw) | s s 1z U wait(long :_} void
B doors : int b & 20 Y| © wait{long 1, int i) woid
L& width ¢ int Car oSl £ get.set_java.GetSeTl_Java 1 main
Output - GetSet_Java (run) & |
@ u> | run:

T - N

3| & public static void maim(String[] args) {
4 |CE[I ol=new car (); |
5 ,__l ol.getdata();
[ _ |01.setdatat4ﬂ}; I
7 SMpIintlntal.getdatat} }:
8 ol.doors=4;
=] System. cut.println{ol.doors);
10| - 1
11 1
o P T e e ——— -
1z | class ecar { |
13| | private imt width=20; |
1a| | int doors; |
15 \%public int getdata( )| | |0utput—GetSet_Ja\ra:run
16| | return width; | u> rumn:
17 } 1B | *°
4
is public weoid setdata (int w){ | _
| R ¢ | i | BUILD SUCCESSH]
19 1 width=w;
20 I 1 I
I ) I
K N U U S SS J

22 Al 3 el 4l da
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[

1z
12
14
15
16
17
18

o

1 e e

width has private access in car

(Alt-Enter shows hints)
ol.width=220;

ol.doors=4;

ni{String[]

r

System. cut.println{cl.doors)

"~ Zlass car I
private int width=20;

|
I
| int doors;
puklic int getdata( ){
T return width;
I

public wvoid setdata (int w)
width=w;

-

. o) Jsasl sa

args) {

H R a .

3

Encapsulation

£.55 O @l pdia
48 )by private
Aldg b ydle g
@ Jg PA e
.class ) Jala

|
|
|
|
|
|
d
!
|
|

W =] s L RS

e e i e
s W R O

public class GetSet Java {
= public static void maim(String[] args)
car ol=new car (});
ol.doors=4;
System. out.println{ol.doors);
ol.getdata();
ol.=zetdata (220);
System. cut.println{ocl.getdatal());

Iclass car | :
| private int width=20; |
int doors; I
puklic int getdata( }{ I
|
I
|
I

return width;

pukblic woid setdata (int w){
width=w;

{

Qutput - GetSet_Java (run) 2

]

D>
W

4
220
BUILD SUCCESSFUL
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Scope 435 Jas (Variables) < sl 5 Classes-!

GOle V) e e 12l il (Scope) 5l Jlsa &\}_1‘)! A @ Lasd
:(declaration) Aie

:(Inside a method) 4l Jala e
.method A (ena ks 5 ja
.(local variable) (s i (cand

:(In a method parameter) Al Jalas B o
parameter variable (s

(method) Al erm Jadd 5 54 g (Iocal variable) laall jiall Jia

Inside the class but not in a ) Al &l ad 0815 clags) Jala o
(method
.Classd) yalic J<I e
.instance field sand

- N
Static Variable

s of 2 13¢8 static = (Class) (s Lo e Cy 2l die v/
a0 5Som Caiall 138 (e WL a3l (objects) <Ll
el 13l A8 jidie A

S K diany G alall sl & sy Le (e e 1 5
SOAY) kL il o o g0 dacal i das e

private static int count = 0;
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Static Variable

objects
al]
class myclass{ class b[]
int a; /
int b; al ] al]
static int c; b[] | ——>

void printabc() c D \ b[]
{ e v al]
System.out.printIn(“a="+a);
System.out.printIn(“b="+b); b[]
System.out.printIn(“c="+c);

4 Static Variable ™

class classl{

int a,b;
A S R N DR

volid printabo()

System. cut.println("a="+a); . i Bk 2
System.cut.println ("b="+kb) ; b‘m;'u )G'Lf“ 47‘&: \)L:" Lo 95“5 ‘ClaSSJ‘ ‘M
System. out.println("c="+c) ;

Static_ia & Sl S c...a‘,:\ C_JA.B )@Ja:\.m ‘object u:\\.S ‘-..5‘ o );\ﬂd\ 12 claladiul die

Accessing static field ¢ | {
T c vold main(String[] args) {
(Alt-Enter shows hints) =new classl():

®.c=30;

x.2=20;
x.b=40;

qmgjﬁwm

‘6“ ):‘ﬁﬂn 138 ?‘35:“."“ C“-"Y‘ ) <l public statlc vold main(string|] args) {
U NPV \{J-.' A ‘—U*:‘n class ) o classl x =new classl();
& yide il e ANl cobject | ) classl. =30;

@ X.3=20; )

25 Laglall 3 bl 4yl Al
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4 Static Variable N

class classl{

int a,b;
Rl L R L

wvold printabeo ()

i L.)A i.ﬁd'i ‘;_"J\ Objects A;IU:IIS.“ dS o:\.'\ Lﬂﬂm
System. cur.println ("a="+a)}; K i 5 i 2
5§SEEIT. .Erintln("b="+b) H ‘&A'A'u ~)€-L-" 47"39 \JL:‘ e (.'5‘-5 ‘ClaSSJ‘ ‘M

System.cut.println("c="+c) ;

el ) 500 Ceds allall A ¢ ded o aat il BaaY
500 <ilS m Sl a5 30 <ilS x IS pa

3| = public static void main(String[] args) {
4 classl x =new classl():
5 classl M =new classl():
@ X.c=30; Output - 00p (run) & |
7 ®x.2=20;
8 x.b=40; W ot
==Z0
9 M.a=200; b=40
10 M.b=400;
=) M.c=500; gn |  ==z00
12 x.printabc () ; b=400
13 M.printabec(); -c=500
BUILD SUCCESSFUL
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Static Variable

public class StaticVariable {
static int noOfInstances;
StaticVariable() {
noOfInstances++;

1

public static void main(String][] args) {
StaticVariable sv1 = new StaticVariable();
System.out.println("No. of instances for sv1 : " + sv1.noOfInstances); /71
StaticVariable sv2 = new StaticVariable();
System.out.println("No. of instances for svl : " + sv1.noOflnstances); //2
System.out.println("No. of instances for st2 : " + sv2.noOfInstances); /72
StaticVariable sv3 = new StaticVariable();
System.out.println("No. of instances for svl : " + svl.noOfInstances);  //3
System.out.println("No. of instances for sv2 : " + sv2.noOflnstances);  //3
System.out.println("No. of instances for sv3 : " + sv3.noOflnstances); //3

H

o J
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11
12
13
14
15
16

-}

public static wvoid main(String[] args) {
StaticVariakble svl = new StaticVariable();
System. cut.println{"Ho. of in vl

StaticVariable sv2 = new StaticVariable();

System. cut.println("Ho. of

System. gur.println {("Ho. of
StaticVariable =v3 = new StaticVariable ()
System.cut.println("Ho. fo
System. cut.println("Ho.

w

System. cut.println ("
H

class StaticVariable{

i int noCflnstances; 1
StaticVariable ()
{

noCfInstances++;

LU}

"+ =vl.

"+ =vl.
"+ =v2.

"+ av3.noCfInstances):
"+ svl.noOfInstances);
"4+ sv2.noOfInstances);

noCfInstances) ;

noCfInstances) ;
nolfInstances) ;

~

QOutput - StaticV/ (run) 22

P
b
.
o

rum:

Ho. of instances for svl :
Ho. of instances for svl :
Ho. of instances for svi -
No. of instances for avid :
Ho. of instances for svl :

S e e

public static void main(String[] args) {

StaticVariable svl = new StaticVariable():
System.out.println ("
StaticVariable =vZ =

System.cut.println ("
System.out.println ("H
StaticVariable =v3 =
System.out.println ("
System.cut.println ("
System.cut.println ("H
H

class StaticVariable{

| static int noOflnstances: | J;\&:LAS‘ d.\§ Staﬂc L) & d\.‘h\]\ u.u&:i

StaticVariable ()
i
noOfinsctances++;

| i

"y

ny
ny

"y
ny
ny

svl.

avl.
=va.

sV3.
avl.
=va.

nodfinstances) ;

nodrinstances) ;
nodrinstances) ;

nodfinstances) ;
nodrinstances) ;

nodrinstances) ;

Output - StaticV (run) 2

BUILD SUCCESSFUL (total time:

5 &
[
&
a
@
@
11
&
@
@
15| -

16 H
17
18
15
20
21
22

23 H

4

u> rumn:

|>1> Ho.

Ho.

= Ho.

%& Ho.

Ho.

No.

of instances for svl :
of instances for svl :
of instances for svi :
of instances for sv3 :
of instances for svl :

wow W R R

of instances for svi :

0 seconds)
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